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MENSURATION-1

1. Find the area, in square metres, of a

rectangle whose (i) Length =4. 5 m , breadth =


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_hxvuNhrJThiW

1. 6 m (ii)) Length = 720 cm, breadth = 25 cm
(iii) Length = 3dm6cm, breadth =

2dm 9 em.

o Watch Video Solution

2. Find the area, in square centimetres, of a

square whose side is 2. 4 dm (ii) 20 mm

° Watch Video Solution



https://dl.doubtnut.com/l/_hxvuNhrJThiW
https://dl.doubtnut.com/l/_LVjblLZuJ0LG

3. Find the area, in hectare, of a field whose

length is 240 m and breadth 110 m.

° Watch Video Solution

4.Find the area of a rectangular plot one side

of which is 48 m and its diagonal 50 m.

o Watch Video Solution



https://dl.doubtnut.com/l/_Dq8M1QkZf7ge
https://dl.doubtnut.com/l/_FO67ugPfnhZJ

5. The length and the breadth of a rectangular
piece of land are 500 m and 300 m
respectively. Find (i) its area (ii) the cost of the

land, if 1 m2 of the land costs Rs 10,000.

o Watch Video Solution

6. Find the area of a square park whose

perimeter is 320 m.

A. 6500 sg.m

B. 6400 sq. m


https://dl.doubtnut.com/l/_hYvuqQmMPZhn
https://dl.doubtnut.com/l/_nWkMPymbaRYV

C. 6800 sg.m

D. 6700 sg.m

Answer: B

O Watch Video Solution

7. Find the breadth of a rectangular plot of
land, if its area is 440 meter square and length

is 22 m.

A.30m


https://dl.doubtnut.com/l/_nWkMPymbaRYV
https://dl.doubtnut.com/l/_ka8HfiDiJOg9

B.20 m

C.40m

D.50 m

Answer: B

o Watch Video Solution

8. The perimeter of a rectangular sheet is 100
cm. If the length is 35 cm, find its breadth. Also

find the area


https://dl.doubtnut.com/l/_ka8HfiDiJOg9
https://dl.doubtnut.com/l/_BTt1AhejqC5T

A. 525 cm

B. 625 cm

C.425cm

D. 825 cm

Answer: A

o Watch Video Solution

9. The area of a square and a rectangle are
equal.lf the side of the square is 40 cm and

the breadth of the rectangle is 25 cm/find the


https://dl.doubtnut.com/l/_BTt1AhejqC5T
https://dl.doubtnut.com/l/_Pcw7E1hTD7U0

length of the rectangle. Also,find the

perimeter of the rectangle.

° Watch Video Solution

10. Anu wants to fence the garden in front of
her house (Fig 11.5), on three sides with
lengths 20 m, 12 m and 12 m. Find the cost of

fencing at the rate of Rs 150 per metre

o Watch Video Solution



https://dl.doubtnut.com/l/_Pcw7E1hTD7U0
https://dl.doubtnut.com/l/_Hfw7t3ft3mJg

11. A wire is in the shape of a square of side 10
cm. If the wire is rebent into a rectangle of
length 12 cm, find its breadth. Which encloses

more area, the square or the rectangle?

o Watch Video Solution

12. A door of length 1 m and breadth 0.5 m is
on a wall. The length of the wall is 4.5 m and

the breadth is 3.6 m as shown in Fig. 5. Find


https://dl.doubtnut.com/l/_Aj2WNinMsE7A
https://dl.doubtnut.com/l/_2NHaZtcvXmzq

the cost of white washing the wall if the rate

of white washing the wall is Rs 20 per m?.

° Watch Video Solution

13. A wall 4.84m long and 3.1m high is
covered with rectangular tiles of size 22 cm by
10 cm. Find the total cost of the tiles at the

rate of Rs. 1.50 per tile.

o Watch Video Solution



https://dl.doubtnut.com/l/_2NHaZtcvXmzq
https://dl.doubtnut.com/l/_9mKBkMYRi3SD

14. A black board of sides 5m 20 cm and
3m 40 cm is to be painted, find the cost at

the rate of Rs-12 per square metre.

o Watch Video Solution

15. Find the height of the wall whose length is
4 m and which can be covered by 2400 tiles of

size 25 cm by 20 cm .

o Watch Video Solution



https://dl.doubtnut.com/l/_SqPk89yLLk4N
https://dl.doubtnut.com/l/_TMGaybjMdtqg
https://dl.doubtnut.com/l/_tkZZVYemiHGj

16. Find the area, in square meters, of a
rectangle whose Length = 5.5 m, breadth = 2.4

m Length =180 cm, breadth =150 cm

o Watch Video Solution

17. Find the area, in square centimetres, of a
square whose side is (i) 2.6 cm (i)

1.2 dm

o Watch Video Solution



https://dl.doubtnut.com/l/_tkZZVYemiHGj
https://dl.doubtnut.com/l/_pUIqEa1hrtHi
https://dl.doubtnut.com/l/_51RXu3gCiS6E

18. Find in square metres, the area of a square

of side 16.5 dam.

° Watch Video Solution

19. Find the area of a rectangular field in acres
whose sides are: 200 m and 125 m (i1) 75

m5dmand 120 m

° Watch Video Solution



https://dl.doubtnut.com/l/_51RXu3gCiS6E
https://dl.doubtnut.com/l/_qoqm5ZP6U91r

20. Find the area of a rectangular field in
hectares whose sides are:
(a) 125 m and 400 m

(a) 75m 5dm and 120 m

o Watch Video Solution

21. A door of dimensions 3m X 2m is on the
wall of dimension 10m X 10m. Find the cost
of painting the wall if rate of painting is Rs 2.

50 per sqg-metre.

| & I


https://dl.doubtnut.com/l/_LgHx5g6XKbIz
https://dl.doubtnut.com/l/_iVE98KfhqXzF

| ¥ Watch Video Solution |

22. A wire is in the shape of a rectangle. Its
length is 40 cm and breadth is 22 cm. If the
same wire is rebent in the shape of a square,
what will be the measure of each side? Also

find which shape encloses more area?

o Watch Video Solution

23. How many square metres of glass will be

required for a window, which has 12 panes,


https://dl.doubtnut.com/l/_iVE98KfhqXzF
https://dl.doubtnut.com/l/_i93PIKkbBMhI
https://dl.doubtnut.com/l/_AFcj7LZUvjbQ

each pane measuring 25 cm by 16 cm?

o Watch Video Solution

24. A marble tile measures 10 em X 12 cm
How many tiles will be required to cover a wall
of size3m x 4 m 7 Also, find the total cost

of the tiles at the rate of Rs 2 per tile.

° Watch Video Solution



https://dl.doubtnut.com/l/_AFcj7LZUvjbQ
https://dl.doubtnut.com/l/_FyvuUNDPkt7n

25. A table top iIs 9 dm 5 cm long 6 dm 5 cm
broad. What will be the cost to polish it at the

rate of 20 paise per square centimetre?

o Watch Video Solution

26. A room is 9.68 m long and 6.2 m wide. Its
floor is to be covered with rectangular tiles of
size 22 cm by 10 cm. Find the total cost of the

tiles at the rate of Rs 2.50 per tile.

o Watch Video Solution



https://dl.doubtnut.com/l/_QPTenlnmNgaj
https://dl.doubtnut.com/l/_ieI8rdhZuLCN

27.0ne side of a square field is 179 m. Find the
cost of raising a lawn on the field at the rate

of Rs 1.50 per square metre.

o Watch Video Solution

28. A rectangular field is measured 290 m by
210 m. How long will it take for a girl to go two
times round the field, if she walks at the rate

of 1.5m /sec?

o Watch Video Solution



https://dl.doubtnut.com/l/_ieI8rdhZuLCN
https://dl.doubtnut.com/l/_JvgKzDbEH5Vw
https://dl.doubtnut.com/l/_9F1ugsOLwFJa

29. A corridor of a school is 8 m long and 6 m
wide. It is to be covered with canvas sheets. If
the available canvas sheets have the size
2m X 1m, find the cost of canvas sheets
required to cover the corridor at the rate of Rs

8 per sheet.

o Watch Video Solution



https://dl.doubtnut.com/l/_9F1ugsOLwFJa
https://dl.doubtnut.com/l/_zPC8AbShmTOk

30. The length and breadth of a playground
are 62 m 60 m and 25 m 40 m respectively.
Find the cost of turfing it at Rs 2.50 per square

metre.

o Watch Video Solution

31. A lane 180 m long and 5 m wide is to be
paved with bricks of length 20 cm and breadth
15 cm. Find the cost of bricks that are required,

at the rate of Rs 750 per thousand.

| & I


https://dl.doubtnut.com/l/_1dXYLxAJmpEw
https://dl.doubtnut.com/l/_wx7loDbFrzwi

| ¥ Watch Video Solution |

32. How many envelopes can be made out of a
sheet of paper 125 cm by 85 cm; supposing
one envelope requires a piece of paper of size

17 cm by 5 cm?

o Watch Video Solution

33. The width of a cloth is 1770 cm. Calculate

the length of the cloth required to make 25


https://dl.doubtnut.com/l/_wx7loDbFrzwi
https://dl.doubtnut.com/l/_nTaSpeMUZ6Wb
https://dl.doubtnut.com/l/_oXVP6olfUx6T

diapers, if each diaper requires a piece of cloth

of size 50 cm by 17 cm.

° Watch Video Solution

34.The carpet for a room 6.6 m by 5.6 m costs
Rs 3960 and it was made from a roll 70 cm

wide. Find the cost of the carpet per metre.

° Watch Video Solution



https://dl.doubtnut.com/l/_oXVP6olfUx6T
https://dl.doubtnut.com/l/_vfasb4IvyJRH

35. A room is 9 m long, 8 m broad and 6.5 m
high. It has one door of dimensions
2m x 1. 5m and three windows each of
dimensions 1.5m X 1m. Find the cost of
white washing the walls at Rs 3.80 per square

metre.

o Watch Video Solution

36. A hall 36 m long and 24 m broad allowing

80 m> for doors and windows, the cost of


https://dl.doubtnut.com/l/_63sZUMjMNehZ
https://dl.doubtnut.com/l/_hnDWCsDvdb8z

2

papering the walls at Rs 840 per m” is Rs

9408. Find the height of the hall.

° Watch Video Solution

37. A rectangular grassy lawn measuring 30m
by 28 m is to be surrounded externally by a
path which is 2 m wide. Find the cost of
levelling the path at the rate of Rs 5 per

square metre.

° Watch Video Solution



https://dl.doubtnut.com/l/_hnDWCsDvdb8z
https://dl.doubtnut.com/l/_yJXGzLTOhWRB
https://dl.doubtnut.com/l/_kxqplizIchla

38. A rectangular park is 45 m long and 30 m
wide. A path 2.5 m wide is constructed outside

the park. Find the area of the path.

° Watch Video Solution

39. A verandah 1.25 m wide is constructed all
along the outside of a room 5.5 m long and 4
m wide. Find the area of the verandah the cost
of cementing the floor of the varandah at the

rate of Rs 200 per m? .

l ° Watch Video Solution


https://dl.doubtnut.com/l/_kxqplizIchla
https://dl.doubtnut.com/l/_ZcQFGa3CxeS2

40. A path 1 m wide is built along the border
and inside a square garden of side 30 m. Find:
(i) the area of the path (ii) the cost of planting
grass in the remaining portion of the garden

at the rate of Rs " “40{\rm</p> <div class=°

Watch Video Solution

41. A grassy plot is 80m x 60m. two cross

paths each 4 m wide are constructed at right


https://dl.doubtnut.com/l/_ZcQFGa3CxeS2
https://dl.doubtnut.com/l/_lmrQJMPNpbqv
https://dl.doubtnut.com/l/_I9H5RyeWT9Ok

angles through the centre of the field, such that
each path is parallel to one of the sides of the
rectangles. Find the total area used path. Also,
find the cost of gravelling them at Rs. 5 per

square metre.

° Watch Video Solution

42. A rectangular lawn is 30 m by 20 m. It has
two roads each 2 m wide running in the middle

of it one parallel to the length and the other


https://dl.doubtnut.com/l/_I9H5RyeWT9Ok
https://dl.doubtnut.com/l/_CRrE3sUEFAIP

parallel to the breadth. Find the area of the

roads.

° Watch Video Solution

43, A table cover, 4m X 2m, is spread on a
meeting table. If 25 cm of the table cover is
hanging all around the table, find the cost of

polishing the table top at Rs. 2.25 per square

metre.

° Watch Video Solution



https://dl.doubtnut.com/l/_CRrE3sUEFAIP
https://dl.doubtnut.com/l/_i9YW5BwHbwku
https://dl.doubtnut.com/l/_cqBQwut9MMWH

44, The length and breadth of a park are in the
ratio 2:1 and its perimeter is 240 m. a path of 2
m wide runs inside it, along boundary. Find the

cost of paving the path at Rs.3 per m?”.

0 Watch Video Solution

45. A rectangular grassy lawn measuring 30m by
28 m is to be surrounded externally by a path
which is 2 m wide. Find the cost of levelling the

path at the rate of Rs 5 per square metre.

I ° Watch Video Solution


https://dl.doubtnut.com/l/_cqBQwut9MMWH
https://dl.doubtnut.com/l/_9lgVOBb5SNns

46. One metre wide path is built inside a square
park of side 30 m along its sides. The remaining
part of the park is covered by grass. If the total
cost of covering by grass is Rs 1176, find the rate
per square metre at which the park is covered by

the grass.

0 Watch Video Solution



https://dl.doubtnut.com/l/_9lgVOBb5SNns
https://dl.doubtnut.com/l/_FdhAGrAflh6O

47.Through a rectangular field of sides 90 m X
60 m , two roads are constructed which are
parallel to the sides and cut each other at right
angles through the centre of the field. If the
width of the roads is 3 m, find the total area

covered by the two roads.

° Watch Video Solution

48. From a rectangular sheet of tin, of size 100

cm by 80 cm, are cut four squares of side 10 cm


https://dl.doubtnut.com/l/_BO3rlSSSix2y
https://dl.doubtnut.com/l/_EJNZtFFXJId1

from each corner. Find the area of the remaining

sheet.

° Watch Video Solution

49, A picture is painted on a cardboard 8 cm long
and 5 cm wide such that there is a margin of 1.5
cm along each of its sides. Find the total area of

the margin.

o Watch Video Solution



https://dl.doubtnut.com/l/_EJNZtFFXJId1
https://dl.doubtnut.com/l/_ZcOUlHSEtq8f

50. Rakesh has a rectangular field of length 80 m
and breadth 60 m. In it, he wants to make a
garden 10 m long and 4 m broad at one of the
corners and at another corner, he wants to grow
flowers in two floor-beds each of size 4 m by 1.5
m. In the remaining part of the field, he wants to
apply manures. Find the cost of applying the

manures at the rate of Rs 300 per area.

° Watch Video Solution



https://dl.doubtnut.com/l/_sBAgJi6PK62T

51. Each side of a square flower bed is 2 m 80 cm
long. It is extended by digging a strip 30 cm wide
all around it. Find the area of the enlarged flower
bed and also the increase in the area of the

flower bed.

° Watch Video Solution

52.Aroom 5 m long and 4 m wide is surrounded
by a verandah. If the verandah occupies an area

of 22m? , find the width of the varandah.

| & I


https://dl.doubtnut.com/l/_hNEh6ovjZ8BQ
https://dl.doubtnut.com/l/_h5nxbVFwPlzL

| ¥ Watch Video Solution |

53. A square lawn has a 2 m wide path
surrounding it. If the area of the path is 136 m? ,

find the area of the lawn.

° Watch Video Solution

54. A poster of size 10 cm by 8 cm is pasted on a
sheet of cardboard such that there is a margin
of width 1.75 cm along each side of the poster.

Find (a) The total area of the margin (b) The cost


https://dl.doubtnut.com/l/_h5nxbVFwPlzL
https://dl.doubtnut.com/l/_lEczMtw2mItz
https://dl.doubtnut.com/l/_nFdpjQn8Jae5

of the cardboard used at the rate of Re 0.60 per

cm2

° Watch Video Solution

55.In the given figure a rectangular field is 50 m
by 40 m. It has two roads through its centre,
running parallel to its sides. The widths of the
longer and shorter roads are 1.8 m and 2.5 m
respectively. Find the area of the roads and the

area of the remaining portion of the field.

o Watch Video Solution



https://dl.doubtnut.com/l/_nFdpjQn8Jae5
https://dl.doubtnut.com/l/_0X9EBVrwc3Kk

56. There is a rectangular field of size
94 m x 32m. Three roads each of 2 m width
pass through the field such that two roads are
parallel to the breadth of the field and the third
is parallel to the length. Calculate: (a) Area of the
field covered by the three roads (b) Area of the

field not covered by the roads.

° Watch Video Solution



https://dl.doubtnut.com/l/_0X9EBVrwc3Kk
https://dl.doubtnut.com/l/_RudbZXZmWfd2

57. A school has a hall which is 22 m long and
155 m broad. A carpet is laid inside the hall
leaving all around a margin of 75 cm from the
walls. Find the area of the carpet and the area of
the strip left uncovered. If the width of the
carpet is 82 cm, find the cost at the rate of Rs 18

per metre.

° Watch Video Solution



https://dl.doubtnut.com/l/_x7myPMSpe1bK

58. Two cross roads, each of width 5 m, run at
right angles through the centre of a rectangular
park of length 70 m and breadth 45 m and
parallel to its sides. Find the area of the roads.
Also find the cost of constructing the roads at

the rate of

° Watch Video Solution

59. The length and breadth of a rectangular park

are in the ratio 5:2. A 2.5 m wide path running


https://dl.doubtnut.com/l/_h3LsqHbovhuy
https://dl.doubtnut.com/l/_3sqW3U6W0vNH

all around the outside the park has an area 305

m?. Find the dimensions of the park.

° Watch Video Solution

60. A square lawn is surrounded by a path 2.5 m
wide. If the area of the path is 165 m? , find the

area of the lawn.

° Watch Video Solution



https://dl.doubtnut.com/l/_3sqW3U6W0vNH
https://dl.doubtnut.com/l/_KZCLCTlD1Bt4

61. Find the area of a parallelogram with base 5

cm and altitude 4.2 cm.

° Watch Video Solution

62. Find the area in square metres of the
parallelogram whose base and altitudes are as

under:

° Watch Video Solution



https://dl.doubtnut.com/l/_g5cxeM1yneUR
https://dl.doubtnut.com/l/_zWuPnbeqXe0h

63. Find the altitude of parallelogram whose area

is 2.25 m? and base is 25 dm.

° Watch Video Solution

64. The side of a rhombus is 6.5 cm and its

altitude is 4 cm. Find its area.

° Watch Video Solution



https://dl.doubtnut.com/l/_2n6TxENtF9Bk
https://dl.doubtnut.com/l/_zQcCdBV291bJ

65. The area of a rhombus is 72e¢m? . If its

perimeter is 32 cm, find its altitude.

o Watch Video Solution

66. In the given figure, ABC'D is a parallelogram
CM 1 ABand BL 1 AD.

(a) If AB =16cm, AD = 12 cm,
CM = 10 cm, find BL

(b) If AD = 10ecm, CM = 8cm, BL = 12 c¢m,

find AB.

| & l


https://dl.doubtnut.com/l/_H0Uy02PD0p5e
https://dl.doubtnut.com/l/_Rga4FSUqeqUi

| ¥ Watch Video Solution |

67. A field in the form a parallelogram has base
15 dam and altitude 8 dam. Find the cost of
watering the field at the rate of 50 paise square

metre.

o Watch Video Solution

68. The area of a parallelogram is 338m?. If its
altitude is twice the corresponding base

determine the base and the altitude.


https://dl.doubtnut.com/l/_Rga4FSUqeqUi
https://dl.doubtnut.com/l/_T4IADEC4kyWf
https://dl.doubtnut.com/l/_tAzKONvrDrLl

° Watch Video Solution

69. The base of a parallelogram is thrice its
height . If the area is 867 cm? find the base and

height of the parallelogram.

° Watch Video Solution

70. Find the area of a rhombus having each side
equal to 13 cm and one of whose diagonals is 24

cam.

| e |


https://dl.doubtnut.com/l/_tAzKONvrDrLl
https://dl.doubtnut.com/l/_q9QTFZxRPBhi
https://dl.doubtnut.com/l/_CsuOLKHP2GOb

& Watch Video Solution ]

71.1f the area of a rhombus is 24cm? and one of
its diagonals is 4 cm, find the perimeter of the

rhombus.

o Watch Video Solution

72. If the area of a rhombus be 48 em? and one

of its diagonals is 6 cm, find its altitude.

o Watch Video Solution



https://dl.doubtnut.com/l/_CsuOLKHP2GOb
https://dl.doubtnut.com/l/_YWlUnZF5qokG
https://dl.doubtnut.com/l/_XPBcJsCm7EiW

73. If the side of a square is 4 m and it is
converted into a rhombus whose major diagonal
is 6 m, find the other diagonal and the area of

the rhombus.

o Watch Video Solution

74. Find the area of a parallelogram with base 8

cm and altitude 4.5 cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_xCeH0cr0Ddy9
https://dl.doubtnut.com/l/_MhNM2BK1ym0e
https://dl.doubtnut.com/l/_kuX196XGilHA

75. Find the area in square metres of the
parallelogram whose base and altitudes are as
under:

(a) Base = 15dm, altitude = 6.4dm

(b) Base = 1m 40 cm, altitude = 60cm

° Watch Video Solution

76. Find the altitude of a parallelogram whose

area is 54 dm? and base is 12 dm.

o Watch Video Solution



https://dl.doubtnut.com/l/_kuX196XGilHA
https://dl.doubtnut.com/l/_oxfnTGkdMTPt

77. The area of a rhombus is 28 m? . If its

perimeter be 28 m, find its altitude.

° Watch Video Solution

78. In Figure, ABCD is a parallelogram,
DL 1 AB and DM 1 BC. If AB =18 cm ,

BC =12¢cmand DM = 9. 3 cm, find DL.

° Watch Video Solution



https://dl.doubtnut.com/l/_RtNJ7cC8jS3M
https://dl.doubtnut.com/l/_jPkARJw1U8wr

79. The longer side of a parallelogram is 54 cm
and the corresponding altitude is 16 cm. If the
altitude corresponding to the shorter side is 24

cm, find the length of the shorter side.

o Watch Video Solution

80. In Fig. 21, ABCD is a parallelogram,

DL 1 AB- If AB=20em , AD = 13 em and

area of the parallelogram is 100 em? find AL

o Watch Video Solution



https://dl.doubtnut.com/l/_LIGjzITqvp2u
https://dl.doubtnut.com/l/_NkZi8eyzcVRq

81. In Fig. 21,if AB = 35¢c¢m, AD = 20 cm and

area of the parallelogram is 560 ¢m? find LB.

° Watch Video Solution

82. The adjacent sides of a parallelogram are 10
m and 8 m. If the distance between the longer
sides is 4 m, find the distance between the

shorter sides.

o Watch Video Solution



https://dl.doubtnut.com/l/_NkZi8eyzcVRq
https://dl.doubtnut.com/l/_wg13gORddSMf
https://dl.doubtnut.com/l/_PNuA3fUXyJDA

8. The base of a parallelogram is twice its
height. If its area is 512 cm?, then the length of
base is

(a)16 cm

(b) 32 cm

(c)48 cm

(d) 64 cm

° Watch Video Solution



https://dl.doubtnut.com/l/_n7fNpqrJHfZ3

84. Find the area of a rhombus having each side
equal to 15 cm and one of whose diagonals is 24

cam.

° Watch Video Solution

85. Find the area of a rhombus, each side of
which measures 20 cm and one of whose

diagonals is 24 cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_14J91N92Yqqv
https://dl.doubtnut.com/l/_ea9l24RLweAN
https://dl.doubtnut.com/l/_jwYVKLYbdoH4

86. The length of a side of a square field is 4 m.
What will be the altitude of the rhombus, if the
area of the rhombus is equal to the square field

and one of its diagonals is 2 m?

o Watch Video Solution

87. Two sides of a parallelogram are 20 cm and
25 cm. If the altitude corresponding to the sides
of length 25 cm is 10 cm, find the altitude

corresponding to the other pair of sides.

° Watch Video Solution



https://dl.doubtnut.com/l/_jwYVKLYbdoH4
https://dl.doubtnut.com/l/_HgUuNQQGYwFH

88. The base and corresponding altitude of a
parallelogram are 10 cm and 12 cm respectively. If
the other altitude is 8 cm, find the length of the

other pair of parallel sides.

o Watch Video Solution

89. A floral design on a floor is made up of 16
tiles which are triangular, the sides of the

triangle being 9 cm, 28 cm and 35 cm (see Fig.


https://dl.doubtnut.com/l/_HgUuNQQGYwFH
https://dl.doubtnut.com/l/_qU0WhubvDRDS
https://dl.doubtnut.com/l/_yuXfDhmEZ5d2

12.18). Find the cost of polishing the tiles at the

rate of 50p per cm?.

° Watch Video Solution

90. Find the area in square centimetres of the
triangle whose base and altitude are as under: (i)
Base = 15 cm, altitude = 8 cm (ii) Base = 1.5 m,

altitude =0.8 m

o Watch Video Solution



https://dl.doubtnut.com/l/_yuXfDhmEZ5d2
https://dl.doubtnut.com/l/_BcgNqTtxbV2X

91. Find the altitude of a triangle whose base is

20 cm and area is 150 cm? .

° Watch Video Solution

92. The area of a right triangle is 50 m? . If one of

the legs is 20 m, find the length of the other leg.

° Watch Video Solution



https://dl.doubtnut.com/l/_wLyBlwS8DO1U
https://dl.doubtnut.com/l/_hvqqekoRmwRY

93.Find the area of an isosceles right triangle. If

one of the equal sides is 20 cm long.

o Watch Video Solution

94. The area of a triangle is equal to that of a
square whose each side measures 60 metres.
Find the side of the triangle whose

corresponding altitude is 90 metres.

° Watch Video Solution



https://dl.doubtnut.com/l/_DvMJ9JwaZrOb
https://dl.doubtnut.com/l/_40ZWTnUR8Ts1
https://dl.doubtnut.com/l/_nfaIjLF1UAls

95. A field in the form of a parallelogram has one
of its diagonals 42 m long the perpendicular
distance of this diagonal from either of the

outlying vertices is 10.8 m. Find the area of the

field.

° Watch Video Solution

96. Find the area of an equilateral triangle

having each side 4 cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_nfaIjLF1UAls
https://dl.doubtnut.com/l/_n8D6XRYAtvBD

97. Find the area of an isosceles triangle having
the base 6 cm and the length of each equal side

5cm.

° Watch Video Solution

98. Find the area of a right angled triangle with

base BC = 7 ¢m and hypotenuse AC' = 25 cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_8Ow4V4a8fqBT
https://dl.doubtnut.com/l/_RbJAIQaCY4p2

99. The base of an isosceles triangle is 12 cm and
its perimeter is 32 cm. Find the area of the

triangle.

° Watch Video Solution

100. Triangle ABC' is right angled at AAD is
perpendicular to BC. If
AB =5cm, BC =13cm and AC = 12cm.
Find the area of ABC' Also, find the length of

AD.

| & l


https://dl.doubtnut.com/l/_gMkiCJaDcCvJ
https://dl.doubtnut.com/l/_twsLAQgDyoNO

| ¥ Watch Video Solution |

101. Triangle ABC is isosceles with
AB=AC=7.5cmand BC =9cm . The
height from A to BC i.e, AD is 6 cm. Find the
area of ABC' what will be the height from C to

AB?

° Watch Video Solution

102. Find the area in square centimetres of a

triangle whose base and altitude are as follows:


https://dl.doubtnut.com/l/_twsLAQgDyoNO
https://dl.doubtnut.com/l/_Y8YWg70eqBu2
https://dl.doubtnut.com/l/_zlvtrupRY7yt

base =18 cm, altitude = 3.5 cm base = 8 dm,

altitude =15 cm

° Watch Video Solution

103. Find the altitude of a triangle whose area is

42 em? and base is 12 cm.

o Watch Video Solution

104. The area of a triangle is 50 cm? If the

altitude is 8 cm, what is its base?


https://dl.doubtnut.com/l/_zlvtrupRY7yt
https://dl.doubtnut.com/l/_IpAvpJ7zty8H
https://dl.doubtnut.com/l/_Cm7sQP30VPep

° Watch Video Solution

105. Find the area of a right angled triangle
whose sides containing the right angle are of

lengths 20.8 m and 14.7 m.

° Watch Video Solution

106. The area of a triangle, whose base and the
corresponding altitude are 15 cm and 7 cm, is

equal to area of a right triangle whose one of


https://dl.doubtnut.com/l/_Cm7sQP30VPep
https://dl.doubtnut.com/l/_C9MCwiV9CPVx
https://dl.doubtnut.com/l/_rZ77OhziHjth

the sides containing the right angle is 10.5 cm.

Find the other side of this triangle.

° Watch Video Solution

107. A rectangular field is 48 m long and 20 m
wide. How many right triangular flower beds,
whose sides containing the right angle measure

12 m and 5 m can be laid in this field?

o Watch Video Solution



https://dl.doubtnut.com/l/_rZ77OhziHjth
https://dl.doubtnut.com/l/_CzTPWdDzIddG

108. In Figure, ABCD is a quadrilateral in which
diagonal AC = 84 cm ;
DL | AC, BM 1 AC, DL =16.5¢cm and
BM = 12cm . Find the area of quadrilateral

ABCD.

° Watch Video Solution

109. Find the area of the quadrilateral ABCD

given in Figure. The diagonals AC and BD


https://dl.doubtnut.com/l/_pxpOP5ZvAZac
https://dl.doubtnut.com/l/_6ffLnYQF0Vs6

measure 48 m and 32 m respectively and are

perpendicular to each other.

° Watch Video Solution

1M0. In Fig 31, ABCD is a rectangle with
dimensions 32 m by 18 m. ADFE is a triangle
such that EF | AD and EF = l4cm.

Calculate the area of the shaded region.

o Watch Video Solution



https://dl.doubtnut.com/l/_6ffLnYQF0Vs6
https://dl.doubtnut.com/l/_xDBNoHPJyP4l

1. In Fig. 32, ABCD is a rectangle of length
AB =40cm and breadth BC = 25cm.- |If
P,Q,R,S be the mid-points of the sides
AB, BC, CD and DA respectively, find the

area of the shaded region.

° Watch Video Solution

12. Calculate the area of the quadrilateral

ABCD as shown in Fig33, given that


https://dl.doubtnut.com/l/_tFx9M1q8N2sF
https://dl.doubtnut.com/l/_IxDj52Gjhn8B

BD =42cem , AC =28 em , OD = 12 em and

AC 1 BD.

° Watch Video Solution

113. Find the area of a figure formed by a square
of side 8 cm and an isosceles triangle with base
as one side of the square and perimeter as 18

cam.

o Watch Video Solution



https://dl.doubtnut.com/l/_IxDj52Gjhn8B
https://dl.doubtnut.com/l/_KgxDOm5PumTT

14. Calculate the area of quadrilateral field
ABCD as shown in Fig.35, by dividing it into a

rectangle and a triangle.

° Watch Video Solution

115. Calculate the area of the pentagon ABCDE
, where AB = AFE and with dimensions as

shown in Fig.36.

° Watch Video Solution



https://dl.doubtnut.com/l/_RIckO0Z5ItvJ
https://dl.doubtnut.com/l/_HPJstAC8c9r0
https://dl.doubtnut.com/l/_QYtollg6y6y8

116. The base of a triangular field is three times
its altitude. If the cost of cultivating the field at
Rs 24.60 per hectare is Rs 332.10, find its base

and height.

° Watch Video Solution

117. A wall is 4.5 m long and 3 m high. It has two
equal windows, each having form and
dimensions as shown in Fig.37. Find the cost of
painting the wall (leaving windows) at the rate of

Rs 15 per m? .


https://dl.doubtnut.com/l/_QYtollg6y6y8
https://dl.doubtnut.com/l/_8QjaDDWW5AsP

° Watch Video Solution

118. If the area of a square is 225 m?, then its
perimeter is

(a)15 m

(b) 60 m

(€)225m

(d) 30 m

° Watch Video Solution



https://dl.doubtnut.com/l/_8QjaDDWW5AsP
https://dl.doubtnut.com/l/_vrDwD68cDsb6

119. If the perimeter of a square is 16 cm, then its
area is

(a)4 cem?
(b) 8 cem?

(c)16 em?

(d) 12 em?

o Watch Video Solution

120. The length of a rectangle is 8 cm and its

area is 48 cm?. The perimeter of the rectangle is


https://dl.doubtnut.com/l/_wMC9rZdWzEnv
https://dl.doubtnut.com/l/_bAog9WVCvbFV

(a)14 cm
(b) 24 cm
()12 cm

(d) 28 cm

o Watch Video Solution

121. The area of a square and that of a square
drawn on its diagonal are in the ratio (a) 1: V2

(b) 1:2(c)1:3(d) 1:4

o Watch Video Solution



https://dl.doubtnut.com/l/_bAog9WVCvbFV
https://dl.doubtnut.com/l/_rHlHu6STW2IH
https://dl.doubtnut.com/l/_PC1EPxF3pQvB

122. The length of the diagonal of a square is d
1
units. The area of the square is (a)d? (b) §d2 (c)

1 2 2
74% (d) 2d

° Watch Video Solution

123. The ratio of the areas of two squares, one
having its diagonal double that of the other, is

(@)2:1(b)3:1(C)3:2(d)4:1

° Watch Video Solution



https://dl.doubtnut.com/l/_PC1EPxF3pQvB
https://dl.doubtnut.com/l/_O4Ax7ObmMVkv
https://dl.doubtnut.com/l/_jmxZPPke5iRL

124. If the ratio of the areas of two square is
9:1, then the ratio of their perimeters is (a) 2: 1

(b)3:1(c)3:2(d)4:1

° Watch Video Solution

125. The ratio of the area of a square of side a

and that of an equilateral triangle of side a, is

(@) 2:1(b) 2: /3 (c)4:3(d)4:/3

° Watch Video Solution



https://dl.doubtnut.com/l/_jmxZPPke5iRL
https://dl.doubtnut.com/l/_sPS6SMrgfCWY

126. On increasing each side of a square by 25%,
the increase in area will be (a) 25% (b) 55%

(c) 55.5% (d) 56.25%

° Watch Video Solution

127. The area of a square is 50 cm? . The length
of its diagonal is

(a)54/2 cm

(b) 10 cm


https://dl.doubtnut.com/l/_SChL3ZtScLq4
https://dl.doubtnut.com/l/_M6VbocOWNlTj

(c)104/2 cm

(d) 8cm

° Watch Video Solution

128. Each diagonal of a square is 14 cm. Its area is
(a)196 cm”

(b) 88 cm?

()98 cm”

(d) 148 em?

° Watch Video Solution



https://dl.doubtnut.com/l/_M6VbocOWNlTj
https://dl.doubtnut.com/l/_mKr2VXBYwRUm
https://dl.doubtnut.com/l/_kC8GeVQeEo7Q

129. The area of a square field is 64 m?. A path of
uniform width is laid around and outside of it. If
the area of the path is 17 m?, then the width of
the path is

(@)1 m

(b) 1.5 m

(c) 0.5m

(d)2m

o Watch Video Solution



https://dl.doubtnut.com/l/_kC8GeVQeEo7Q

130. A path 1 m wide is built inside a square park
of side 30 m along its sides. Find the area of the
path. Calculate the cost of constructing the path

at the rate of Rs 70 per m?

o Watch Video Solution

131. The length and breadth of a rectangle are
(3z 4+ 4)cm and (4x — 13)cm. If the perimeter
of the rectangle is 94 cm, then z =

(a)4


https://dl.doubtnut.com/l/_hVI7w6pg1LsP
https://dl.doubtnut.com/l/_0lxfkJxi0yef

O Watch Video Solution

132. In Fig.38, ABCD and PQRC are square
such that AD = 22 em and PC = ycm. If the
area of the shaded region is 403 cm?, then the

value of y is (a)3 (b) 6 (c)9 (d) 10

° Watch Video Solution



https://dl.doubtnut.com/l/_0lxfkJxi0yef
https://dl.doubtnut.com/l/_VW6gT89oqRTm
https://dl.doubtnut.com/l/_Rm3rBe7PpQbD

133. The length and breadth of a rectangle are
(3z + 4)cm and (4 — 13)cm respectively. If the
perimeter of the rectangle is 94 cm, then its area
Is

(a)532 cm”

(b) 512 cm”

(c)40 cm

(d) 120 em

0 Watch Video Solution



https://dl.doubtnut.com/l/_Rm3rBe7PpQbD

134. If the length of a diagonal of a rectangle of
length 16 cm is 20 cm, then its area is

(a)192 cm?

(b) 320 cm”

(c)160 cm”

(d) 156 cm?

o Watch Video Solution

135. The area of a rectangle 144 cm long is same

as that of a square of side 84 cm. The width of


https://dl.doubtnut.com/l/_7NB8Ry0884uh
https://dl.doubtnut.com/l/_RPlMdWdUeBre

the rectangle is
(a)7 cm

(b) 14 cm

(c)49 cm

(d) 28 cm

o Watch Video Solution

136. The length and breadth of a rectangular
field are in the ratio 5:3 and its perimeter is
480 m- The area of the field is (a)7200 m” (b)

13500 m? (c)15000 m? (d) 54000 m>

| e |


https://dl.doubtnut.com/l/_RPlMdWdUeBre
https://dl.doubtnut.com/l/_198ZkunFl1Rb

& Watch Video Solution ]

137. The length of a rectangular field is thrice its
breadth and its perimeter is 240 m. The length of
the field is

(a)30 m

(b)120 m

(c)90 m

(d)80 m

o Watch Video Solution



https://dl.doubtnut.com/l/_198ZkunFl1Rb
https://dl.doubtnut.com/l/_RHQG7jbOlQJ4

138. If the diagonal of a rectangle is 17 cm and its
perimeter is 46 cm, the area of the rectangle is

(a)100cm? (b) 110em? (c)120 em? (d) 240 em?

° Watch Video Solution

139. The length and breadth of a rectangular
field are 4 m and 3 m respectively. The field is
divided into two parts by fencing diagonally. The
cost of fencing at the rate of Rs 10 per metre is

(a)Rs 50


https://dl.doubtnut.com/l/_G8PK2X18Xt7k
https://dl.doubtnut.com/l/_MRVlJ4tqsIzI

(b) Rs 30
(c)Rs 190

(d) Rs 240

o Watch Video Solution

140. The area of a parallelogram is 100 cm?. If
the base is 25 cm, then the corresponding height
Is

(a)4 cm

(b) 6cm


https://dl.doubtnut.com/l/_MRVlJ4tqsIzI
https://dl.doubtnut.com/l/_XMp7bGwFOimA

(c)10 cm

(d) 5cm

o Watch Video Solution

141. The base of a parallelogram is twice its
height. If its area is 512 cm?, then the length of

base is (a)16 cm (b) 32 cm (c)48 cm (d) 64 cm

o Watch Video Solution



https://dl.doubtnut.com/l/_XMp7bGwFOimA
https://dl.doubtnut.com/l/_ua2Xq8ZzsBr2

142. The lengths of the diagonals of a rhombus
are 36 cm and 22.5 cm. Its area is (a)810 ¢m? (b)

405 em? (€)202. 5 em? (d) 1620 cm?

° Watch Video Solution

143. The length of the diagonals of a rhombus is
16 cm. If its area is 96 ¢m?, then the length of
other diagonal is (a)6 cm (b) 8 cm (c)10 cm (d) 18

cm

o Watch Video Solution



https://dl.doubtnut.com/l/_KbdWX6vtBOgD
https://dl.doubtnut.com/l/_DSzMN0VnsL9X

144. The lengths of the diagonals of a rhombus
are 8 cm and 14 cm. The area of one of the 4

triangle formed by the diagonal is

(a)12 cem?

(b) 8 cem?

(c)16 cem?

(d) 14 em?

o Watch Video Solution



https://dl.doubtnut.com/l/_DSzMN0VnsL9X
https://dl.doubtnut.com/l/_IaU3xjetrRe6

145. The length of a rectangle is 8 cm more than
the breadth. If the perimeter of the rectangle is
80 cm, then the length of the rectangle is

(a)16 cm

(b) 24 cm

(c)28 cm

(d) 18 cm

° Watch Video Solution



https://dl.doubtnut.com/l/_AdHS5y6msbs1

146. The length of a rectangle is 8 cm more than
the breadth. If the perimeter of the rectangle is
80 cm, then the area of the rectangle is (a)192

em? (b) 364 cm? (c)384 cm? (d) 382 cm?

o Watch Video Solution

147. The area of a rhombus is 119 em? and its
perimeter is 56 cm. The height of the rhombus is
(a)7.5 cm

(b) 6.5 cm


https://dl.doubtnut.com/l/_5NqYQ04kp4qv
https://dl.doubtnut.com/l/_Uh5dXxrg0K8S

(c)8.5 cm

(d) 9.5 cm

° Watch Video Solution

148. Each side of an equilateral triangle is 8 cm.
Its area is

(a)164/3 cm?

(b) 32,/3 cm?

(c)24\/§ cem?

(d) 8,/3 cem?

o Watch Video Solution



https://dl.doubtnut.com/l/_Uh5dXxrg0K8S
https://dl.doubtnut.com/l/_QA6G9njG0bib

149. The area of an equilateral triangle is
4./3 cm?. The length of each of its side is

(a)3 cm

(b) 4 cm

(€)24/3 cm
V3

(d) 5 cm

° Watch Video Solution

150. The height of an equilateral triangle is

/6 cm. Its area is


https://dl.doubtnut.com/l/_QA6G9njG0bib
https://dl.doubtnut.com/l/_0Elx1cvywU1X
https://dl.doubtnut.com/l/_ghEzwSrmI1gf

(a)34/3 cm?
(b) 24/3 cm?
(0)2v/2 em’
(d) 64/2 cm?

° Watch Video Solution

151. If A is the area an equilateral triangle of
height h, then
(a)A = /3 h?

(b) v/34 = h


https://dl.doubtnut.com/l/_ghEzwSrmI1gf
https://dl.doubtnut.com/l/_B3LUo0rWpyvD

(c)y/3A = h?

(d) 34 = h?

° Watch Video Solution

152. If area of an equilateral triangle is 3,/3 cm?,
then its height is (a)3 cm (b) \/§ cm (c)6 cm (d)

24/3 cm

° Watch Video Solution



https://dl.doubtnut.com/l/_B3LUo0rWpyvD
https://dl.doubtnut.com/l/_8vMwDuk2wZzc

153. The area of a rhombus is 144 em? and one of
its diagonal is double the other. The length of
the longer diagonal is

(a)12 cm

(b) 16 cm

()18 cm

(d) 24 cm

° Watch Video Solution



https://dl.doubtnut.com/l/_8Swqcv9e75Yz

154. In Fig.39, the value of k is (a)z (b) E (c)

8 8

71 7
——(d) —=
8 8

° Watch Video Solution

155. In Fig.40, ABCD is a parallelogram of area

144 ¢m?, the value of z is (a) 8 (b) 6 (c) 9 (d) 10

° Watch Video Solution



https://dl.doubtnut.com/l/_CKGZq3GB9g7r
https://dl.doubtnut.com/l/_OGimBSl0KP0F

156. Find the altitude of a parallelogram whose

area is 54 dm? and base is 12 dm.

o Watch Video Solution

157.In Fig.42, ABCD is a parallelogram in which
AD =21em, DH = 18 cm and DK = 27 ecm.
The length of side AB is (a) 63 cm (b) 63.5 cm (c)

31.5cm (d) 31 cm

° Watch Video Solution



https://dl.doubtnut.com/l/_YV3frB5TJyjI
https://dl.doubtnut.com/l/_SeFser8IlpWT
https://dl.doubtnut.com/l/_UT0kS1bm8Kut

158.1n Fig.42, ABCD is a parallelogram in which
AD = 21cem, DH = 18 em and DK = 27 em.
The perimeter of the parallelogram is (a) 105 cm

(b) 84.5 cm (c) 169 cm (d) 52.5 cm

o Watch Video Solution

159. Find the area of a parallelogram whose base

is 8cm and altitude is 4.5cm

° Watch Video Solution



https://dl.doubtnut.com/l/_UT0kS1bm8Kut
https://dl.doubtnut.com/l/_Dy7gVfnUgZVE
https://dl.doubtnut.com/l/_ztskzEh5lbm2

160. A piece of wire of length 12 cm is bent to
form a square. The area of the square is

(a)36 cm?

(b) 144 cm?

2

(c)9 cm

(d) 12 em?

o Watch Video Solution

161. The area of a right isosceles triangle whose

hypotenuse is 6\/5 cm is (a) 12 cem? (b) 15 em? 12

em? (d) 18 em?

| = |


https://dl.doubtnut.com/l/_ztskzEh5lbm2
https://dl.doubtnut.com/l/_lQdu0E12Sosj

I &9 Watch Video Solution ]

162. A wire is in the form of a square of side 18 m
. It is bent in the form of a rectangle, whose
length and breadth are in the ratio 3:1. The
area of the rectangle is

(a) 81 m*

(b) 243 m*

(c) 144 m*

(d) 324 m?

° Watch Video Solution



https://dl.doubtnut.com/l/_lQdu0E12Sosj
https://dl.doubtnut.com/l/_D6Gf5Wc9EixP

